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I agree that university students should work part time. I have two reasons for this. First, working
part time is a good way to earn money. University is expensive and working part time enables
students to earn money to pay for things such as tuition, food, rent, and other expenses. Second,
part-time jobs give university students a chance to gain real-world experience. Depending on the
job, students can meet and learn how to appropriately interact with a wide range of people. For

these reasons, I think that university students should work part time.(93 words)
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There are several measures that governments around the world could take to stop global warming.
First, they could promote a change from gasoline-driven vehicles to electric powered vehicles, or
promote public transportation so that fewer people would drive cars. Second, governments could
use renewable sources of energy, such as solar and wind energy, instead of burning fossil fuels such
as coal and natural gas which emit large amounts of carbon dioxide. These measures would help
to reduce the amount of COz that is released into the atmosphere, thereby stopping global warming.

(91 words)
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